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1) Find the angles and magnitude of the following vector
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A=(5,7,-3) B=(-9,7,3)
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3) Find the angle between the two given vectors
A=(12,9,-10) B=(17,-16, 3)
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4) Draw the complete FBD for the following exercise,
showing the resultant forces made by the distributed
force, and the reaction force of the two supports (just
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the vector).




5) Prove the reaction force in D is equal to 26kips
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6) Assume the reaction in A is equal to 13kips, calculate
normal, shear and momentum in E of the following cut.
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EXTRA (5pts)
7) Find the total Torsion in C
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